Bonoposa. Ob1as
XapaKTEePHUCTHKA, IIOAYUEHHE,
CBOMNCTBA












I[lonyueHnue

HZO = H2 + O2

7Zn + HCI = ZnCl2 g

Mg + HZSO4 — MgSO4 +H,
Na + H O = NaOH + H
Ca+H, 0= Ca(OH), + H
CH C+H (1OOOOC)

Pacteop
KMCNOTE




CBoHCTBA BOAOPOAA

duznyecKue
CBOMCTBA

ra3 0e3 nBeTa, 0e3
3araxa, 0€3 BKyca
B 14,5 pa3 nerue
BO3/IyXa

T =-252,8 e
MaJjio PacTBOPUM B
BOJIC




XUMHUYEeCcKHe CBOUCTBA

Oxuciumens

Bzaumooeticmeyem ¢ memannamu (1eJ109HBIMHA U
IeJI0YHO03eMeIbHBIMMU )

H + Na = NaH

H + Ca = CaH,, (ruxpumsi)

Boccmanosumens

B3auModeucm8yem 6 nememaniamu (kpome As, P, Si, B)
+0,=H,0 "Tpemyuwniiras»: V(H,):V(O,) = 2:1
>+ Cl = HCI

H + N = NH,

B3awwodeucm8yem C OKCUOAMU MEMANL08

H2+Cu0 Cu+H 0)

H +WO W+HO

2






